
Assignment

3.         (+ 4 ) ( -9)      ( 2 )

            = +4 x -9      2

            = -36      2

            = +18 or 18

 

 

4.       (+36)     ( +4)x( -2 )

            = +36      +4  x  -2

            = -9  x  2

            = -18

 

 

f.   (-7) (8)      (+4)         

g.   (13) (12)      (-6)          

h.   (-8) (4)      (+9)          

i.   (-5) (-3)      (-5)          

k.   (-7) (4)      (2)           

l.           (42)      (21) (-2) 

m.         (-32)      (4) (+8)

n.         (-81)     (-3)  (3) 

       p.  (64)      ( 8 )     (-4 )

       o.   (117)     ( 3 )     (-3 )

Multiplying and Dividing Integers

Mathcrush.com

Find the answer and shade it, with same color as given
with questions.

Examples

(+ 2 ) (- 5 )1.

    =+2 x -5

= -10

 

 

2.         (+ 4 ) ( 2 ) (- 6 )

            = +4 x 2 x -6

            = +8 x -6

            = -48

 

 

a.  (-5) (4) (+7) (-2)

b.  (35) (2) (+1) (-4)

c.  (17) (-3) (8) (3)

d.  (-2) (-4) (-7) (-1)

e.   (5) (-6) (-9) (2)
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